S HET I AR B AR 110 SRR 5 1 SRR R\ R — REEH B 56

JUE_ I ESR: W44
— ~ HHFERE A 77 /18, 3L 56 (B FRIESEEFA Tt B E EFUFEREHEY)
1.(1) 2800 1.(2) 90000 1.(3) 325 1.(4) 47
2.(1) —2X° 2.2) 2WHTx—4  |2.3)  2X*+1 2.(4) 4+ 4 +£3x+9
8
3.(1) i1—3 3.2 1.7 4. X +x—1 5. b>a>c
; 31 7. 2> \/% >3>42
2
T~ EEFEREA o/, 3L 28
1. A 2. D 3. A 4. B
5. C 6. B 7. D

= B I 4 5 16 ) RAER BB ERA AR E T T 5
(

1.(1) (6x*+19x+10)=(2x+5)
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1.(2) (5x—6x° +15x°)=(3x°—4)
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2. A=(X+1)(X—3) 4 6------- (147)

=X*—2X—3+6

3. (n+2)*—n(n+1)=37----(1 %)
n®+4n+4-—n*—n=37
3n+4=37
3n=33, n=11-----—--- (147)
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